CTET MS L1 English L2 Hindi P2

Topic:- CDP_P2_CTET

" Which of the following is an example of gross motor skill ?

(1)  Sketching

(2) Holding a needle

(3) Walking fast

(4) Putting beads in a thread
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[Question ID = 1][Question Description = S24_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2 “Proximo - distal’ principle of development suggests that development proceeds from :

(1) Complex to Simple

(2) Head to Toe
(3) Center to Extremes
(4) General to Specific
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[Question ID = 2][Question Description = S24_CDP_Q002]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



" Which of the following are secondary agencies of socialisation ?

(i)  School

(ii) Books

(iii) Media

(iv) Parents

(1 () @)

@ () @), (@v)
(3) (@) (i), (iv)
(4) @), (@), ()
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1[.Q:1?;;it?or:] |||; :9:;][Question Description = $24_CDP_Q003]
2. 2 [Option ID = 10]

3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)

According to Jean Piaget”s theory of Cognjﬁve development, at which stage, most children
can ‘operate on operations’ and develop hypothetico - deductive thinking ?

(1) Sensori motor
(2) Pre operational
(3) Concrete operational

(4) Formal operational
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[Question ID = 4][Question Description = S24_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

) Jean Piaget gave importance to in the process of learning.

(1) Readiness to learn

(2) Negative reinforcement
(3) Competitive feelings
(4) Functional fixedness
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[Question ID = 5][Question Description = S24_CDP_Q005]
1. 1 [Option ID = 17]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]

4. 4 [Option ID = 20]

6)

Amarjeet considers rules as fixed and advocates that everyone should follow rules
irrespective of their personal situations. According to Lawrence kohlberg’s theory of moral
development at which stage Amarjeet is at present ?

(1) Obedience and punishment orientation

(2) Instrumental purpose orientation

(3) Good boy - Good girl orientation

(4) Law and order orientation

estia T =Rt e wrelt & iR 20 o wht ergeien Sl & fom el o6 o Pl o srgeRor e
ey, =e eh i Teafd ferst S Tohr ol 271 A1 81| AN Hieetan| o i o fHgid &
TR, HAHTE 39 994 forg sraeen § 872
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[Question ID = 6][Question Description = S24_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]



7)

During a group work in class, Ramesh finds his students struggling to solve a given question.
In order to scaffold them Ramesh should :

(1) Tell them to copy the answer from book

(2) Ask them to withdraw given assignment and move on next task
(3) Give cues and hints relevant to the problem

(4) Complicate the question by ambigous instructions

e W uE w1 F SRE, T A Ya R s fame feu e ued o e e H o @ ) fornedfai
I TEAN 37 % T T 1 7 S =ifen ?
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1[Q:.1?cs)titqn |||; =275}[Question Description = $24_CDP_Q007]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

® To enhance students’ cognitive development, Lev Vygotsky advocated for

(1) Social isolation
) Use of cultural tools
(3) Rote memorisation
)  Passive imutation
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[Question ID = 8][Question Description = S24_CDP_Q008]

1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

? Progressive education places at the centre of teaching - learning process.
(1) Students
(2) Parents
(3) Teachers
(4) Exams
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[Question ID = 9][Question Description = S24_CDP_Q009]
1. 1 [Option ID = 33]

2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Ahmad wants to become a Psycho - therapist or Counselor. As per Howard Gardner’s
theory of multiple intelligences, his teachers should provide opportunities to enhance his

intelligence.
(1) Spatial
(2) Naturalistic
(3) Musical
(4) Interpersonal
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[Question ID = 10][Question Description = S24_CDP_Q010]
1. 1 [Option ID = 37]

2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

" While practising cooperative learning, a teacher should

(1) make same ability based groups

(2) instruct students to follow only prescribed procedure
(3) restrict use of discussions and debates
(4) make groups of diverse learners
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[Question ID = 11][Question Description = S24_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)

In a classroom discussion on cricket, a teacher is giving more chances to boys than girls.
By doing so he is .

(1) Combating stereotype threat
(2) Practising gender bias
(3) Ensuring gender equality

)

(4) Breaking gender stereotypes
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[Question ID = 12][Question Description = S24_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13 g
) In a class of diverse learners, a teacher should :

(1) Group students based on their performance in exams

(2) Set and maintain expectations of success from all

(3) Divide students based on their socio - economic context

(4) Practise standardised curriculum and method of assessment
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[Question ID = 13][Question Description = S24_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

" Formative assessment is done :

(1) only at the beginning of the session
(2) throughout the session for all students
(3) at the end of the session only
(4)

4)  only for students facing learning challenges
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[Question ID = 14][Question Description = S24_CDP_Q014]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

") Which of the following question will promote critical thinking among students ?

(1) What is the Capital of Sri Lanka ?

(2) When is teacher day celebrated in India ?
(3) Which is the largest city in Asia ?
(4)

4 How would you resolve water crisis in your city ?
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[Question ID = 15][Question Description = S24_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]



3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

Concept of inclusion requires :
(1)  Respect of diversity and individual differences

(2) Standardised testing for assessment
(3) Teacher - centered Pedagogy
(4) Labelling and segregation of students
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[Question ID = 16][Question Description = S24_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) i 7 : ; o
) Dyslexia” poses direct challenges in the domain of :

(1) emotional regulation

(2) body coordination

(3) social interactions

(4) comprehension of written text
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[Question ID = 17][Question Description = S24_CDP_Q017]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



While students with Autism faces several challenges in certain domains, they have strength
which can be utilised by the teacher in teaching - learning process.

(1) to pay attention for minute details

(2) for social communication

(3) of expressing themselves without hesitation in front of large groups
(4) of easily adjusting to frequent changes in schedule
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[Question ID = 18][Question Description = S24_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)
Which of the following mode should be avoided while teaching students with visual
impairment ?
(1) wverbally explaining the content written on board

(2) providing tactile maps
(3) allowing use of assistive devices
(4) wusing written tests to assess learning
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[Question ID = 19][Question Description = S24_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20 - - - . . - ¢ > !
" Which of the following is not a characteristic of students with ‘giftedness’ ?

(1) above - average intelligence level

(2)  higher order problem-solving skills
(3) high motivation to master skills
(4)

4) slow in processing information

frefefaa & | - fodromn gfasmame foenedf =1 =& €72
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1[Q:.|t;:;tit?n I|E =727(])][Question Description = $24_CDP_Q020]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

]

21)
A teacher should motivate students to form view of ability and should consider
learning as process.

(1) incremental, an active
(2) entity, a passive

(3) incremental, a passive
(4) entity, an active
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[Question ID = 21][Question Description = S24_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

*2) Students are likely to experience when the activity is not valued by them.
(1) Curiosity

(2) Excitement
(3) Joy
(4)

4) Boredom
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[Question ID = 22][Question Description = S24_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23)

Richa, a school teacher wants to promote conceptual understanding among her students.
To do so, she should :

(1) ask students to solve questions in prescribed manner only.
(2) focus on procedural knowledge and metacognitive skills.
(3) emphasise on rote memorisation of content.

)

(4) discourage students to establish connections between sub-concepts.
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[Question ID = 23][Question Description = S24_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24 " : _ : ; 2.3
) Which of the following characterizes a socio- constructivist classroom ?

(1) Teacher inculcating competition-oriented attitude among students
(2)

(3) Pedagogy geared to focus on rote memorisation

(4) Curriculum which is standardised and does not consider cultural differences

An environment conducive for discovery learning
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1[Q;.n[e;;it?or:] |I|[)) =923;1][Question Description = S24_CDP_Q024]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Students feel more involved and engaged in the process of learning if classroom
environment promotes :

(i)  Enquiry about the concept

(i) Reflection on their thoughts

(iii) Passive imitation of the teacher
(iv) Mere reproduction of knowledge
(1) @ @)

(2) (1) (i)

(3) (i) (i)

(4) (i) (iv)
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1) (@), (i)

2) (1), (iii)

3) (i), (iii)

4) (i), (iv)

1[Q:J?;titgn |||3 =927]5][Question Description = $24_CDP_Q025]
2. 2 [Option ID - 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]



26)

To facilitate students’ learning, a teacher should conduct activities which are :

(1) relevant to their everyday life

2

4

mechanical and require passive listening

(2)
(3) decontextualised
(4)

presented in progressive sequence from complex to simple

ferenfefai & siferTs <1 Gew-gA oA ¥ foTT s1eaTyh i g wehR i Tfafaferl 1 Herer w
=rfge?

(1)
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[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

27)

ID = 26][Question Description = S24_CDP_Q026]
ID = 101]
ID = 102]
ID = 103]
ID = 104]

Development of critical thinking in students can be facilitated by emphasising on

3

I~
1= =)
e i S

application of learning in varied contexts.
competition to finish the task at earliest rather than understanding it.
mere summarisation of notes given by the teacher.

rote memorisation of content and paSsive imitation of teacher.

farenfei & waeiraTers fawm &1 T fre yen west gy foar s | &2

1

3
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[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

28)

(1)
(2)
(3)
(4)

ID = 27][Question Description = S24_CDP_Q027]
ID = 105]
ID = 106]
ID = 107]
ID = 108]

Pace of learning is :

dependent solely on personal factors.

dependent solely on environmental factors.

independent of both personsal and environmental factors.
dependent on interaction of personal and environmental factors.
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[Question ID = 28][Question Description = S24_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

(
(
(
(

) Alternative conceptions of students
(1) should be discouraged by ignoring them
(2) are not related to thier experiences
(3) are always extremely erroneous and represents irrational thinking process
(4) illustrates their ‘naive’ theories constructed in the process of meaning-making
ferenfei =t dehfedsh sraERomy |
(1) ol STeE Hh fedted &1 ST =y
(2) T STYEl | Hefed TE &
(3)  THEN e e Brr @ o1 qeheld fea Wik i gulidr 8

(4) e fmio =t wiwmel # 1 v wes deamel @ guid €
[Question ID = 29][Question Description = S24_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30 , p b % o :
) While teaching a concept, it is important to avoid :

(1) making connections among different aspects of the concept.

(2) highlighting cause-effect relations.

(3) giving non-exemplars related to concept.

(4) presenting the content of concept disconnected chunks of information.

ferelt off sraremRom 1 forerr e we fog o1 | =1 Heey 272
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[Question ID = 30][Question Description = S24_CDP_Q030]
1. 1 [Option ID = 117]



2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

1)
If x=(2019)2 + 2019+ 2020 , then the value of (2x—1) is :

(1) 4040
(2) 4038
(3) 4039
4) 4041

afs x=4/(2019) + 2019+ 2020 &, A (2 — 1) %1 HF & :

(1) 4040
(2) 4038
(3) 4039
(4) 4041

[Question ID = 31][Question Description = S24_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)

What is the sum of the greatest and the smallest of the following fractions

4 5 7 11 8
P T T and T ?
9" 6 12 24 11
. i
5 37
@) 3
, B
(‘-) 18
31

@ oz
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[Question ID = 32][Question Description = S24_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)

a7 Y (2f
What is the reciprocal of x, where y = _] = [_] X [_] ?
3 2 3

1
O 2z
1
@ 3
1
®) 3
2
@ 3
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®
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[Question ID = 33][Question Description = S24_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]

2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

“If 3101 -2.11-k =265 —0.256, then what is the value of (1—k) ?
(1) 2.304
(2) 2.403
(3) 0.597
(4) 0.403

Ffg 3.101-2.11-k=2.65-0.256 &, 98 (1—k) %1 &1 °1 § ?

(1) 2.304
(2) 2.403
(3) 0597
4) 0.403

[Question ID = 34][Question Description = S24_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5)

1_2_>< 10° is written in the standard form as :
24x10™
(1) 5x10°
(2) 0.5x108
(3) 5x107
4) 2x107



12x10° = HHE T H e g o TR S @

24x107%

(1) 5x10°
(2) 0.5x10°
3) 5x107
4) 2x107

[Question ID = 35][Question Description = S24_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) >

(x2+y2—22)2 _( 2—1;2—22)

(x ) (x - z) yz is equal to :
(1) 2
(2) 4
3) 1
4) 0
2,0 A2 [ o o o2
(x+y z) ( y Z)W%:
(x+z)(x—2)y?
1) 2
(2) 4
(3) 1
4) 0

[Question ID = 36][Question Description = $24_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7 : 5 s ; : ;
) What is the sum of coefficients of x2 and x in the following expression ?

(x=2)(2¢% +x—15) — (x+ 2) (x” +11x + 10)
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(x—2)(2¢% + x—15) = (x +2) (x? + 11x +10)

(1
(2
(

{C8]

A

)
)
)

(4)

35
—49
65
— 65

[Question ID = 37][Question Description = S24_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)

y+6 i y—3 DSy—4
4 5 g

The solution of the equation

is also the solution of the equation :

2 4 5
o gy

4 5
_1;+5=1+ y+3
2 4 5
y+5 1 y+3
2 2 5
2 2 5
y+3_1 y->5
5 2 2

8

[Question ID = 38][Question Description = S24_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]



9)
On selling a calculator for ¥ 980, a person loses 6%%. For how much (in ) should he sell

it to gain 8% ?

(1) 1132
(2) 1134
(3) 1240
(4) 1244

U FerFeret H1 T 980 H S T UF A H 6%%,a%mﬁg‘m% | 5% 39 fore T 9

Y 9 8% U B ?

(1) 1132
(2) 1134
(3) 1240
(4) 1244

[Question ID = 39][Question Description = S24_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10)

If 3x +2i= 5, then what will be the value of 312+ (1112)_1 ?
X
1
7
1 73
2
el
@ 63
1
8_
@) 83
2.
&
@ 9



1 _
afe 3x+5-=5 & @ 82+ (1249 " %51 7 € 2

W 75
@ 63
@ 8
W 93

[Question ID = 40][Question Description = S24_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

In APQOR, side QR is produced to a point T and side PQ is produced to a point X. If
ZPRT=136° and ZRQX=104°, then the complement of /P is :

(1) 30°
(2) 50°
(3) 60°
(4)  66°

395 PQR , [ QR 1l U foig T e = ST € iR s PQ %! fag X o srgran < & | 4fg
ZPRT =136° 4 ZRQX=104°%, T 4P ¥l I © :

(1) 30°
(2) 50°
(3) 60°
4)  66°

[Question ID = 41][Question Description = S24_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)

If the complement of an angle x is equal to the supplement of angle 4x and the supplement
of an angle y is 4 times its complement, then what is the value of (x +y) ?

(1) 80°
2) 90°
(3)  100°
(4)  120°



g 107 x 1 GTF HI0 4 & HEIF F G 2, SRy A HYF ST e H 9L A E, 79
(.r+y)31r’lf|T;l§:

(1) 80°
(2) 90°
(3) 100°
@) 120°

[Question ID = 42][Question Description = S24_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)

In a quadrilateral ABCD, ZC=72° and ZD=80°. The bisectors of ZA and ZB meet at a
point P inside the quadrilateral. What is the measure of ZAPB ?

(1) 70°
2) 76°
(3) 78°
(4) 86°

=99 ABCD #, ZC=72°TN ZD=80° ¥1 ZA 3R /B F Tz, <gs & i g P
fHetd €1 ZLAPBHI AN ® :

(1) 70°
(2) 76°
3) 78°
(4) 86°

[Question ID = 43][Question Description = S24_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)

If x, y and z are the number of faces, edges and vertices respectively of a pentagonal

2
xX+y—z
pyvramid, then what is the value of —é—] +17?
(1) 22
(2) 24
(3) 26
(4) 28



Ffg fordll davsir snar arer fyafie o woei, Tl 3R ol =1 derd 9w «, y iRz 8, @

_72
[ig_“] F1F AR

(1) 22
@) 24
(3) 26
(4) 28

[Question ID = 44][Question Description = S24_Maths Content/Pedagogy_Q044]

1. 1 [Option ID = 173]

2. 2 [Option ID = 174]

3. 3 [Option ID = 175]

4. 4 [Option ID = 176]

15)
In which of the following cases, the construction of a quadrilateral ABCD is not possible ?
(1_) AB=48 cm, BC=43 cm, CD=3.6 cm, AD=4.2 cm and AC=6 cm

(2) AB=7 cm, BC=8 cm, AD=10 cm, £ZA=120° and £B=80°

(3) AB=9cm, BC=76 cm, ZA=60°, ZB=120° and £D=80°

(4) AB=8 cm, BC=10 cm, ZA=75°, ZB=150° and £ZC=135°

e form fearfa o, wa 9rq4s ABCD 1 391 9979 @i € 2
(1) AB=4.8 cm, BC=4.3 cm, CD=3.6 cm, AD=4.2 cm 3R AC=6 cm
(2) AB=7 ¢m, BC=8 cm, AD=10 cm, ZA=120° AR /B=80°
(3) AB=9 cm, BC=7.6 cm, ZA=60°, ZB=120° 3R #D=80°
(4) AB=8 em, BC=10 cm, ZA=75°, /B=150° 3R /C=135°
[Question ID = 45][Question Description = S24_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)

The area of a trapezium is 1.6 m? and the distance between its parallel sides is 10 dm. If
one of its parallel sides is longer than the other by 8 dm, then the longer parallel side is :
(1) 140 cm

(2) 180 em
(3) 200 em
(4) 280 cm



fordlt gaeia 1 &% 1.6 m? € 2R sU! iat eneli & = &1 g 10 dm ¥ 1 Al gaiw
yenell § ¥ U gl 9 8 dm Ay &, @ 99iaw geneli § a€ e #i des &
(1) 140 cm

(2) 180 cm
(3) 200 cm
(4) 280 cm

[Question ID = 46][Question Description = S24_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

The height of a solid right circular cylinder is 15 cm. If 4 times its curved surface area is
equal to 6 times the sum of areas of its bases, then its volume (in cm?) is equal to :
(1) 900 =

(2) 1200
(3) 1350
(4) 1500

el S @ et Je i S9E 15 om | A 3HF 95 oM S5 1 4 T 556 SER 6
SAFE o AN F 6 T o AR &, 9l 9o H AETT (cm3 H) T

(1) 900 =

(2) 1200
(3) 1350 7
) 1500

[Question ID = 47][Question Description = S24_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

The internal length of a rectangular water tank is 5 m and depth is 1.5 m. If it can hold
30000 litres of water, what is the internal width of the tank ?

(1) 35m
2) 4m

3) 42m
4) 45m



SATIATRT YT i Wek ekl <h1 3TTafies o 5 m & &R 784S 1.5 m ® 1 3fe 399 30,000 wftet 9FT
W HFAT §, T 39 ! Bl SAaiE AeE #E 7

(1) 35m
2) 4m

3) 42m
4) 45m

[Question ID = 48][Question Description = S24_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19 : : ;
) What is the mean of mode, median and range of the data given below ?

9,11,4,'7, 10,23, 21, 29,23, 33, 18

(1) 20
(2) 21
68
G =
70
4) =

91 eTishgi & Sgaeieh, HIEAS Y1 UFET &1 7l 1 § 2
9,11, 4, 7, 10, 23, 21, 29, 23, 33, 18

(1) 20
@) 21
68
B 5
70
@ 3

[Question ID = 49][Question Description = $24_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)



Numbers 35, 36, 37, . . ., 64 are written on cards (one number on one card) and putina

box. A card is drawn at random from the box. What is the probability that the number on
the card drawn is divisible by 3 or 5 ?

1
Y
7
T
1
® 3
13
@ 3

@ 35, 36, 37, . . ., 64 fafi= el © fadt St € (T e W U @) iR 1w
T H = o o ¥ 1 9§ 9 U e 9g=s ' 9 e s 139 e e e w fowt
T 3741 5 9 fauma &, s9eh! 1 Wikl & ?

ST
VI

s 7

1

3 —

®) 3

. 13

( ) 30
[Question ID = 50][Question Description = S24_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]

2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21)
Ms. Anita is observing children for addition of algebraic expressions. Which of the
following is most appropriate for Ms. Anita to look for in the responses of the children ?
(1) Strategies a child is applying and child’s progress towards higher level strategies
(2) How correctly the child is solving problems on addition of algebraic expressions
(3) How quickly the child is solving problems on addition of algebraic expressions
(4)

4) How neatly the child is solving problems on addition of algebraic expressions



G, 3 Ssia SRt 3 A o fae s o i R R €
freafafes & 9 == i f5 afemell W om < g 41, i & fore g9d sugs &7
(1) Arsrd foeR g1 A9EN #T @ § 991 993 ) 399 WA Al & e gt
(2) Tope wEt T & srean Siterg Sl % A0 W THAT ot @I

(3) Temert Seet ar=an disia SHsteh] o A1 I qHES g H W@

(4) fopat gwE & s sfisfia SierR & 20 o goensti # 5 w @ E

[Question ID = 51][Question Description = S24_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22) Which of the following is a least appropriate strategy which will help students in

constructing their knowledge ?

(1) Activity based method

(2) Inductive - deductive method
(3) Problem solving method

(4) Lecture method

Freferfed & S-wt fafy faenfefl ) s 3w % Fmion § werma w01 % fon god 9 9 9
I9gF Bl 2

(1) vifafafy snenfa fafy

(2) AT — AR fafy

(3) wwE g fafy

4) = fafy

[Question ID = 52][Question Description = $24_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)

A child is in which level of geometrical thinking according to Van Hieles if he/she is able
to deduce general properties of geometrical shapes and is able to prove theorems ?

(1) Level0
(2) Level4
(3) Level2
(4) Level3



A T F TR =1 A Feaa o ford T 0 T s a7 st stepfas o T ol &
e & o § &R wEE = g &R o € 2

(1) &R0
(2) w4
(3) X2
(4) X3
[Question ID = 53][Question Description = S24_Maths Content/Pedagogy_Q053]

1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]
24)
While measuring the length of a straight line, a child in the class states that, “Any point
on my scale/ruler can be taken as the starting point”.

(1) The child is unable to conserve the idea of measurement

(2)  The child needs to be corrected as only 0 can be used as the starting point
(3) The child is able to conserve the idea of measurement
(4) Such responses need to be discouraged in a mathematics classroom

AU el H UF el T w1 A9 i g0 U diferl Seoid it § - R T

(The1) WHE o fog w amifie fag & &0 § foran s w=an 81

(1)  @rfereht B9 =i SGUROT & Ufd T9 T& o1 918 &/ HE T8 HL U T

(2) =fcrsht 1 TRl W el F F 6 ¢ fF Faa 08 IR g % AR faen s weR
£

(3)  NfeTeRT WY oh1 HAURON o Yl HH &A1 OIS &/ h1 S0 & U6 &

(4) o =T e H 39 A & U HI FAIcAIEd A AT

1[Q:J?;tit9n |||3 =ZF:£;]][Question Description = S24_Maths Content/Pedagogy_Q054]

2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

) Ability of solving mathematical questions is independent of :

(1) Practicing mathematical concepts

2 Understanding of mathematical concepts

L]

4 Gender and caste

(
(
(

)
)  Visualisation of mathematical concepts
)



TN 99 SR el ST Rl &l o 792 T et
(1) TR SATERIMA & T

(2) IO STAURONS & THHA

(3) TR STEMTONS] % guHIEI

(4) Sfetgsifa

[Question ID = 55][Question Description = S24_Maths Content/Pedagogy_Q055]

1. 1 [Option ID = 217]

2. 2 [Option ID = 218]

3. 3 [Option ID = 219]

4. 4 [Option ID = 220]

26)
Which of the following statement is NOT correct with regard to the nature of mathematics ?
(1) Primary level mathematics is concrete and does not require abstraction

(2) Mathematics uses special vocabulary to communicate ideas precisely

(3) Mathematical concepts are hierarchical in nature

Mathematics involves deductive reasoning

=

Frefafad § 4 -9 Fu 76 $1 v F dey 5 |e 16 82
(1)  werfies &R 1 o T § SR 39 ST it AEvIhdl 76l §

(2) T H STEEROnST 1 AUae (FER) ®Y § gEifvd s & foe G weereet waan
ERIR IR

(3) Tforier stauRunsl # yeHfa qerskE dd §
(4) o § R aifdhshar wfter ©

[Question ID = 56][Question Description = S24_Maths Content/Pedagogy_Q056]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

In mathematics class, teacher asked Raman, “If the interior angles of a triangle are in the
ratio 2 : 3 : 4. Then what is the measurement of these angles ? Raman responded the
measurement of the angles as 407, 60° and 80°. Which ability of Raman is showed through
his response ?

(1) Counting ability

(2) Proportional thinking
(3
(

) Ability of measurement
4) Rote memorization



Tford <t ke § forferes 3 v © w1 fr ovw fopdt s & stiafies i 2:3: 4 %F ey § E <
FHE T HIUI 1 HIY A B2 TE W A A e TR R0 1 =19 40°, 60°, 2T R0° BAN | THA

SR SHH! FRE &1t i < 8 2
(1) T =kt s

(2) HHrErfdeR fEdA

(3) HIYA i AT

(4) T2 T ATG HLA i A

[Question ID = 57][Question Description = S24_Maths Content/Pedagogy_Q057]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

Which of the following statement regarding mathematics teaching - learning is NOT correct ?

Mathematical knowledge can be created in primary classes through observation of
patterns and generalisations

Mathematical learning is also a social process involving dialogue
Culture and context has no role in constructing mathematical knowledge
A good mathematics teacher can enhance the interest of students in mathematics

i < foreror - sferm & I H HiA-91 U a8 ¢ 2

(1)

Trefes smened | o o1 9F diaedl ST Wil & e o "1 9 gied fma
T HERA

Tfure =1 SAferTe WeE STt U witsE it off @
T J & o § depfa i) deut #t g ofaem @ &
Tfor =i =t SreafuenT Taenfe) =1 wfvm & w9 =1 HagT w5 gt §

[Question ID = 58][Question Description = S24_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

29)

Which of the following is a least effective pedagogical tool for an inclusive mathematics
classroom 7?7

(1)
(2)
(3)
(4)

Use of ICT tools

Use of standardized tests

Use of models, such as tactile graphs and abacus
Use of formative and summative tests



Frefarfaa § & @t 7for =t garaeh e o foe o8 w0 g faor srei gored € 2
(1) ICT (=1 Ge9UIcHF qeheAlen! ) &l STAN
(2) HFEHIFT S F TIN
(3) Wied, Sy o waeiia si@ iR feam =1 w=bm
(4) TEACTH IR AT S T TEN
1[Q1u¢[a;ti9n |||; =253§]][Question Description = $24_Maths Content/Pedagogy_Q059]
2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30) Which of the following is least related to mathematics ?

(1) Deductive reasoning

(2) Logical reasoning
(3) Experimentation
(4) Axioms

Freferfea & | wF-ar 1fog 998 FH e d gag 2
1) A fae=m

(2) feRek fae=m
(3) wER
(4) w@EfEs

[Question ID = 60][Question Description = S24_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET

" Read the statements below and choose the correct option :
S; : All Combustion reactions are exothermic reactions.

S, : Oxygen is added and heat is released in all these reactions.
(1) Both S, and S, are true and S, is the correct explanation for S,
(2) Both S, and S, are true but S, is not the correct explanation for S;
(3) S, istrue but S, is false
4) 8, is false but S, is true
(4 Sy 2



Trefefad wuei =1 ufed 3R H&l fasheq 1 g HIe

51
S

]

(1
(2
(3
(4)

A

)
)

Te &1 et sxfufermd et sifuferand Bt €

7 [t srfafersti § sifeiisH &1 HaIsH 2 2 it g safsld Bl |
S, 8 s, EMl Wy € iR 8, & faw s, wet =amem €1

S, 3R S, B wed £ faeg S, % foru s, wét =men 74 #1

S, 94 € foh S, I8 T

S, 39 € T S, &9 T

[Question ID = 61][Question Description = S24_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2 (R;) Reaction1 : Barium chloride reacts with Sodium Sulphate.
(R;) Reaction 2 : Magnesium oxide reacts with carbon dioxide.
Which of the following is true ?

R, R,
(1) Combination reaction Decomposition reaction
(2) Double displacement reaction Combination reaction
(3) Displacement reaction Double Displacement reaction
(4) Combination reaction Displacement reaction

(R,) : Afuferan 1 i FIEE Hifeaq gethe 9 AR Fa 2
(R,) : Afuferam 2 : HifeEm SAlEe e SEHEEe O Afafm w5 ¢

Trefafad § 9 1 5 82

Ry R,
(1) EArsm At ferrs sAfafeman
(2) Te-Tereemys srfufsran HAE Al
(3) fawarg sifaferan Teferama sfuferan
(4) HASE At fareamm stfaferan

[Question ID = 62][Question Description = $24_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3 Read the statements below and choose the correct option :

Sl:
SZ:

(1)

(2)
3)
(4)

Physical changes are always reversible.

No new product is formed in a physical change.

Both §; and S, are true and S, is the correct explanation for §;
Both S, and S, are true but S, is not the correct explanation for §;
S, is true but S, is false

S, is false but S, is true

Tr=fafaa Al =1 ufeu oI wel fasey =1 =249 &ife

S, : Wifqes ufterd= Fefe1 Sehuvi g €|

S, : Wiiferer 9fter H =g 1 Seare Ffea 7@ e

(1) S, 3RS, 3H |ea & 3R S, i S, Wal = 7 |

(2) S, 3RS, M w2 fg S, I S, WEl =T TE B
(3) S, ¥ fHgs, A 2

(4) S, 3EH T fhg S, ¥ &I

[Question ID = 63][Question Description = $24_Science_Q063]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4 Match the following for flame of a candle.

A B
Hottest part (i) Innermost zone of unburnt wax vapors
Moderately Hot (ii) Middle zone of partial combustion
Least Hot (iii) Outermost zone of complete combustion

(a)-(iid), (b)-(1), (c)~(ii)
(a)-(i), (b)-(iii), (c)-(3)
(a)-(1), (b)-(i), (c)-(iii)
(a)-(iid), (b)-(id), (c)-()

e &1 sarel & fay fAefatad =0 gafad S

(a)
(b)
(c
(1
(
(3
(4

[R]
B

A B

waffuss 70 WA (i) Al HIE H AT H AT /A
T T 9 (i) SR g8 S A
SATH TH 9 (i) g0 S8 1 STRIEE T

(2)-(iii), (b)-(i), (c)-(ii)

(a)-(ii), (b)-(iii), (c)-(i)
(a)-(1), (b)-(id), (c)-(iii)
(a)-(iit), (b)-(ii), (c)-(3)

[Question ID = 64][Question Description = S24_Science_Q064]



1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]

) Which of the following metals does not react with dilute Hydrochloric acid ?

(1) Iron

(2) Copper

(3) Magnesium
(4)  Aluminum

frefafaa § § = € ug 0 TEseEenia v 3 stfufshn 7 Fd €2

(1) STEE/ErR
(2) I
(3) HiferEm

(4) Ui

[Question ID = 65][Question Description = S24_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6)
Read the statements below and choose the correct option :

S; + Growth and branching of roots in A and B horizons is advantageous for absorption of water
and minerals

S, : A and B horizons are rich in water, minerals & humus.

(1) Both §; and S, are true and S, is the correct explanation for §;

(2) Both §; and S, are true but S, is not the correct explanation for S
(3) 8, istrue but§, is false

(4) Both §; and S, are false

Frferfad el W foar wifse iR @&t fasme 1 =7+ Hifem

S,: A 3B HER ferfadi ™ =i =1 gfs vd wrem S wd wfsl & saw & fag e )
S,: A 3irBd=R fefd 5@, afsi vd @e 4 995 2 |

(1) 8, SRS, TH Hea & 3R S, &l S, Hal A § |

(2) S, RS, M w2 fhg S, I S, WEl =T 7E B

(3) S, ¥ &S, A B

(4) 8, 3RS, I erE T

[i*]

1

"

[Question ID = 66][Question Description = $24_Science_Q066]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]



7 Which of the following is/are inorganic impurities of sewage ?
(A) Urea

(B) Phosphates

(C) Pesticides

(D) Vegetable waste
(1) (B)and ()

(2) (A)and (B)

(3) Only (B)

(4 Only (D)

Frafafea § 3 20 geed =1 s sryfeal 3782

(A) Ffem

(B) THIERS

(C) drsFAmi

(D) a%qfd 37U

(1) (B) 3 (©)

(2) (A)€R (B)

(3) e (B)

(4) ad (D)

1['Q:.|¢[a;;itci>or:] |Ir; ==266:]][Question Description = $24_Science_Q067]

2. 2 [Option ID = 266]
3. 3 [Option ID = 267]
4. 4 [Option ID = 268]

8 Which of the following are true for sexual reproduction in plants ?
(A) Two plants are essential for sexual reproduction.

(B) Only insects are agents of pollination.
(C) Fertilization occurs only after pollination.
(D) Plants are obtained from seeds.

(1) (B) and (D)

(2) (A)and (B)

(3)  (A) and (D)

(4) (©)and (D)



Frefafea | | =, 9 # Siftres 5 o fam § '
A) ifi 9 % for & 98 eravEe )
B) helel Thie §l RFTIT o R B |

(

(

(C) =R Tael AT o U9 & 8 HEar © |
(D) 8 sisi § wra fomd o €
(
(
(

1) (B) 3R (D)
2) (A) SR (B)
3) (A) R (D)
(4 (O &R (D)

[Question ID = 68][Question Description = S24_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

?) Pick the odd one out on the basis of respiratory organ :
(1) Grasshopper

(2) Cockroach
(3) Snail
(4) Ant

frafafag 8§ 9 vags o & o1uR W e 1 %1 e #ifsn
(1) fe==

(2) Rl
(3) =
(4) =i

[Question ID = 69][Question Description = S24_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10)



Arrange the following statements in the correct order :

(A) Urine stored in urinary bladder is passed out through the urinary opening at the end of
urethra.

Ureters carry urine to the urinary bladder.

Useful Substances are absorbed back into blood.

Blood containing useful & harmful substances reaches kidney for filtration.
Wastes dissolved in water is filtered out as urine in the kidneys.

(©) = (D) = (E) = (B) = (A)

So&E

s

S p— — — p— g— —p—
[R%] tr
T

(D) = (B) = (O) = (4) = (E)
3) (D)= ©) = (E)—=B) =4
4) (B) = (€)= (D)= (A) = (B)

Frefefad Al &1 g8l e H sqafted wifsg

(A) TEwmE  siefia g3 gemrl & faysia w suftera gt @ st e femn s )
(B) @I 951 o HALE qoh o Sl 8 |

(C) SwEF geed wfer © Aoy syaeinfua w1 fom s )

(D) wYeE UF gifenes qeel 9fed sfr amr & fau g9 9% vgad 2|

(E) /1 H gereiia srafere uemef gaes § 27 & 93 ®9 § 9t e fu sm 21
(

(

(

H Q- (D) (E) = (B) = (A)
2 (D)= (B) = Q) = (A)—(E)
3) (D)= (©) = (E) = (B) = (A)
(4) (B) = (€)= (D) = (A) = (B)

[Question ID = 70][Question Description = S24_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11)

While preparing dough for making “cake”, the cook adds a Pinch of yeast and sugar to the dough
and leaves it aside for few hours. Why does the dough smell sour after few hours ?

(1) Due to production of Carbon dioxide

(2) Due to production of Alcohol
(3) Due to addition of sugar to yeast
(4) Due to production of lactic acid



ek % o TeT e g, TEEd 3 UF gl A 3R = o o S iR g ue % fau 38 vee grs
feomr| 9 S ¥ o o f @ wed) v i an @ 37

(1) @i e SEHRRS 391 Bl ¢

(2) FiifeR Toehied 30 B B

(3) it 7 | =it el TE ot

(4) wHifer Sfes e 3o B B

[Question ID = 71][Question Description = $24_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

'2) Read the following statements and choose the correct option :
S, : Blood flows in only one direction in arteries.
S, : Arteries have valves.
(1) Both S, and S, are true and S, is the correct explanation for S,
(2) Both S; and S, are true but S, is not the correct explanation for S
(3) 8 istrue but§, is false
(4) S, is false but S, is true

Freaferf ol 1 TR S Tt ket a1 =T o -
S,: mfTE § s Faw v fewn ¥ yenfed €6 7

S, o § e 2

) S, 3ANS, T TAE AR S, T S, TE AT

) S, #RS, Al A E o S, I S, Wel e e ¢
) S, T & fFg S, W 7

) S, 3 ¢ g S, T €

[Question ID = 72][Question Description = $24_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3) Consider two situations (A) and (B) given below :
(A) : Exhaust fan is fitted on the wall near the ceiling in the kitchen.
(B) : Exhaust fan is fitted next to window of the kitchen.
Which of the two situations will be more effective in expelling heat from the kitchen ?
(1) (A) will be more effective
(2) (B) will be more effective
(3) (A)and (B) will be equally effective
(4) It depends on the direction of air



= & T <1 feafaat (A) 3R (B) W fa=m Fifew
(A) : TIE § =a % fepe SR W frafas dan @ gan )
(B) : Taiass @ wIE i fasehl o W & g7 ¢ |
g | 3o 1 Fere § 1 ufifrafadi § 9 s iferes gt 2 2
(1) (A) @feres gt g
(2) (B) sfies gurEt g
(3) (A) &R (B) =r=R gt &
(4) % arg i feen W AR e @
1[Q1l1?;tit9n |||3 =£]][Question Description = $24_Science_Q073]
2. 2 [Option ID - 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14)

In a simple pendulum, the distance between the mean position and extreme position is D. Time
taken by bob to move distance D/4 is t; sec. What is the time period of the pendulum ?

(1) 8 tsec

(2) 12t sec
(3) 4 t;sec
(4) 16t sec

s WY drereh H, weA fefy ofr = feafa % o9 @ g DR gl D/4 @ T H e ¢ F6 A B
wIeTeh 1 FHAEY 41 ?

(1) 8 t;HHe
(2) 12t e
(3) 4 t,HHe
(4) 16 t, HeHE

[Question ID = 74][Question Description = S24_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



%) Students are asked to plot distance-time graphs for data given in tables (A) and (B).

Table-(A) Table-(B)
Distance| Time Distance| Time

0 0 0 0
10 1 30 3
20 2 60 6
30 3 90 9
40 4 120 12

(1) (A) will have a greater slope than (B)

(2) (B) will have a greater slope than (A)

(3) Slopes in (A) and (B) will be equal

(4) Cannot be inferred from given information

foramferi =1 Tmoft (A) &R (B) H fou Tu siiersl ¥ gi-aw oTerE Wi & fog wer |
HROT (A) RO (B)

£l Y 4l B pp)
0 0 0 0
10 1 30 3
20 2 60 6
30 3 90 9
40 4 120 12

(1) (B) ¥ (A) & garr atferss 201t |
(2) (A)E (B) I Bea Afurss anfi |

(3) (A) R (B) § g@H SEv/ET BT |

(4) = TE gEm ¥ Freed 77 freeen st S
1[Q:J(E:-;ti:n |Ir; =£]][Question Description = $24_Science_Q075]

2. 2 [Option ID = 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



What will happen to the size of the image formed in a convex lens if the object is positioned beyond
the centre of curvature and thickness of lens is reduced ?

(1) No change

(2) Size of image will decrease
(3) Size of image will increase
(4) No image will be formed

Tordlt 3w oy g Afia wfafss & st 61 =0 & afe foe =) ash = 8 9 T S, SiR o =t HieE
EORCCARTIRS |1

(1) @ IR &

(2) gfdfss 1 MY = S

(3) ufdfes =1 MY s/ ST

(4) e wfafss 7& sm

[Question ID = 76][Question Description = $24_Science_Q076]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

)
)

'7) Which of the following is/are true regarding sound and light ?
(A) Vibrations are necessary for producing sound

(B) Sound Travels slower than light

(C) Both light and sound require a medium for propagation
(1) (A)and (B)

() (A)and (Q

(3) (B)and (C)

(4) Only (A)

wafq ud e & Heo H frfafad # 9 e asm /82

(A) & 39 T F o Fua EvTF g

(B) W © eaf HiH Ferdt €

(C) wehrel 31 saf ST =l Heeor & forw ush wread sl sTevdedar aidt €
() (A) 3R (B)

(2) (A) #R(©)

(3) (B) ¥R (C)

(4) HEA (A)

[Question ID = 77][Question Description = $24_Science_Q077]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



18)
Two blocks of iron of masses M, and M, are lying on a cemented floor. If M, is greater that M,
then :

(1) M, is experiencing greater force of friction than M,

(2) M, is experiencing lesser force of friction than M,
3 Both M, and M, are experiencing equal friction
1 2 P &eq
4)  Friction acting in M, and M, is zero
( g 1 2

T HiHS W WM, 3R M, ZHHMI %, @le & al 2hs TS ¢ aia My M, 81 € @l

(1) M, ¥ M, T =0 e s1ferer o @ 8|

(2) M, M, T T F FHH @ @R

() M, 3 M, S 9T SE Y Fe & T B
(4) M, 3 M, W HLa =940 g 2|
[Question ID = 78][Question Description = S24_Science_Q078]

1. 1 [Option ID = 309]

2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

19)
A balloon is placed on the mouth of a plastic bottle. The bottle is placed in hot water (step-A) and
then placed in cold water (step-B). What will happen to the balloon ?

(1) Step A-deflates; Step B-Inflates
(2) Step A-deflates; Step B-deflates
(3) Step A-Inflates; Step B-deflates
(4) Step A-Inflates; Step B-Inflates

et wniees = aldd o 9@ W U e 3] T | Sad TH S § @ T8 (F0-A) 7 R3S w5 °
TET 7 (F1-B) T 31 1 BRI 7

(1) =R A-fo=reh SITeem; =701 B-Fel SIam

(2) = A-fo=Es S =R B-fa=es S

(3) =U A-el ST =0 B-f=eh S

(4) =0T A SO, =R B-FE ST

1[Q;.n[e;tit?n I|I[)) =371§]][Question Description = S24_Science_Q079]

2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



20) What should be the characteristics of a fuse ?
(1) Thin wire, low resistivity, low melting point
(2) Thick wire, low resistivity, high melting point
(3) Thin wire, high resistivity, low melting point
(4) Thick wire, high resistivity, low melting point

WIS i faseard e gt e 2

(1) aen ar, F=1 gfadiesea, = 1w
(2)

(3) Udel AR, 3= AfciEedl, e Mo
(4)

[Question ID = 80][Question Description = S24_Science_Q080]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

21)
A teacher discussed the concept of corrosion thoroughly in the class. She then involved students in
laboratory work on this topic. Students worked in groups to check that iron articles when exposed
to moist air get rusted. Which of the following is NOT true regarding the laboratory task described
above ?
(1) Itis characterised as deductive laboratory work

(

2)
(3) It helps to reinforce the concepts discussed in class
(4)

Students have some idea about what they are expected to find

It allows students to use observations to arrive at a genera]jzation

e forferert 3 Fan § ol YR 9 HaI0 & T9cqd W =4 i | 394 T faenfeldi i 39 fava 92 ggrmmen
o o e | wftafer R feenfeEr = = sitem % fou, 5 o #i axgsti % o ag ¥ 9ud d o W
I S A S, 9l ° s fee

3T Secifad gErTenen & e % dey § frafafes 8 9 #n v 78 €2

(1) =8 Frrerers wErmen w@ % w9 9 fafm fFm mn §)

(2) Taenfeldi 1 3o foem @ § fF 379 %0 39 &3 =+t emhan 71

(3) % e H Tl (U T HYeadi i Yo L H WEHH ¢ |

(4) % faenferdi it U ST a6 Tga § STaaishl o SUANT @i STHfd <ar g

1[Q1u?cs);it?or; ||[D> =3t;: ]][Question Description = $24_Science_Q081]

2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



Which of the following is/are true about scientific theories ?
(A) Scientific theories give a systematic explanation of natural phenomena.

(B) Scientific theories make huge demands on our imagination for their understanding.

(C) Scientific theories should predict new phenomena which are verifiable by experimentation.
(D) Scientific theories are always tentative.

(1) (A), (©), and (D)

(2 (B) (©) and (D )

(3)  (A) (B), (©) and (D)

(4 (A) (B) and (D)

et fagidl & ded ¥ frefafes § @ s o= €72
(A) e fagia urpfas aReeisti @1 vs srafm =amemn 3 €

(B) SR fogia wHgH & forg g9l sea W wgd sifte SR ugd B )

(C) amfa fagrdi =t =2 uftsresii 1 yafqam e =nfen fomeat gfte war gra @ w1
(D) d=ifes fagia weer srfam €1
(
(
(c

1) (A) (C) IR (D)

2) (B), (C) ¥R (D)
3)  (A) (B), (O) ¥R (D)
(1) (A), (B) 3T (D)

[Question ID = 82][Question Description = $24_Science_Q082]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]
23)  Which of the following is a divergent question ?
(1) Explain how Carbon dioxide is able to confrol fires
(2) Is friction a friend or foe ?
(3) Why objects floating in fluids must have special shapes ?

(4) What will happen if we go on cutting trees ?

Trefafad 5 & =M uw SToEd 9 © -

(1)  guzrgy fo FeH SrsiaaEe o % 4 fFEha & o €
(2) o U i E e 2

(3) =l H avdt aegel @i fafre snefa = g =nfen 2

(4) =0 2T AfE 79 U Hed Tl S 2

[Question ID = 83][Question Description = S24_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4[Option ID = 332]



24)

Consider the following excerpt :

“Suppose we wish to cool a room. Thermodynamics tells us that we need to spend extra energy to
do so. This extra energy is supplied by electricity which enables the air conditioner to cool the

room. Thermodynamics also governs the equilibrium of different phases of matter. Estimating
how much heat is evolved or absorbed in a chemical reaction such as photosynthesis requires
application of thermodynamics”.

Which of the following ideas about science is illustrated in the above excerpt ?

(1) Science is an interdisciplinary area of learning

(2) Science is a socio-cultural Endeavour

(3) Science is tentative in nature

(4) Science demands perseverance from its practitioners
Frefefad sgeo w famm wifs

HH AU B Ueh Y I 381 HE =R § | Frfdafe wH wdrdl ¢ fe el tar e % fow sifafe
TNl T/ A F SATEYIH] ¢ | 39 sAfafiem i i foRa gr ergfd i St ¥ S e Su e o
T HE VL &l TeTH F41G1 & | Fonifafe qery & fafu= wawensti &t arear &1 ot FEfa s g0 g
Gyeru St et TramEter stfafsrar | frat o Seafsta =1 srEvitd ent, 3 e § off St
% STIYENT i STEIHA

IR 35§ Frefafea § 4, fagm & 5 foari = erdison fam T 22
(1) fogm aifimg 1 oig: favaas 49 21

2) foum gmmfsr aisfas g9 21

(3) foum wpfa A erfog 2

(4) ToFm o197 sreTraswiel | e Tufe w2

[Question ID = 84][Question Description = $24_Science_Q084]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

—



2%) While introducing chemical reactions the teacher asked the following questions :
(*) What happens when you keep an iron nail in an moist area for some days ?
(*) What happens when you burn paper and wood ?
What objective does the teacher have in mind ?

A) To motivate students to participate in the process of learning.

B) To relate scientific concepts to student’s previous knowledge

C) To know students” alternative conceptions if any.

D) To enable students to understand the method of science.

1) (A), (B)and (D)

2) (A), () and (D)

3) (B), (O) and (D)
(A), (B) and (C)

Tt afafwanet = ggfad #d gy, e T Frefafas g 1 -
(*) B AfE IH e i T Hiel H 59 el 6 fee Tk get o & F | =i
(+) T ST A RIS ST RSl ST 87
o187 o HH H 1 3ReE B2
(A) Taentef=i =1 saferm =i wfshan § 91 oF & fag 9fta =
(B) ek Tyl i farenfef=i % d 3w 9 Siren
(C) Taenfefi =1 afg % Sefeus saemomd €, 6 € s
(D) Terenfel=l =i fam o Yk =l FHAT H H&H 7T |

(1) (A), (B) ¥R (D)
(2) (A), (O) 3R (D)
(3) (B), (C) ¥R (D)
(4 (A), (B) #R (O)
[Question ID = 85][Question Description = $24_Science_Q085]

1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)



Read the statements below and choose the correct option :

S

D
2
3)
4)

1t
82:

Discussing controversial scientific issues promotes argumentation and learning.
Argumentation helps in building explanations, models and theories in science that promote
learning,

Both §; and S, are correct and S, is the correct explanation for S,

Both §; and S, are true but S, is not the correct explanation for S,

S, is true but S, is false

S, is false but S, is true

== feu U syl @i ufew SR wel fashed =1 999 &I -

foanfed Sanfaer Tl W ufta=t @t o faqsh o) sifimy 1 deefed w1

- faaen foam # samemnsd, wfowd o fagidl % fmio o werm =t ¢ el sifrm =1 e
frreran 21

S, i S, 3Ff W & $iX S, #i S, Wl e 7 |

S, 3RS, TH §A & fabg S, &I S, WEl =@ 74 ¢

S, &ed & T S, o8 21

S, o9 € fh S, 5 2|

[Question ID = 86][Question Description = $24_Science_Q086]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)

During a discussion on planets, a teacher asked, “what would happen if there is no moon in the
sky?”. After discussing students’ responses, The teacher asked students to collect more information
related to the question and justify their answers through a group project work.

What could be the objectives of the above task ?

A)
B)
e
5)

—
e N N’ e

2

(R

(
(
(
(
(
(
(
(4

Express to students that their ideas are valued.
Guide students to appreciate multiple perspectives.
Emphasize the importance of tentativeness of science to students.

Encourage students to frame questions and browse variety of reading materials.
(B), (C) and (D)



T8 W ==l FT g, U e A gm, ¢ g At o H wgm a2 ot & s W ==t
FH & R, s 7 fomf o g § gefug o eifus el T 6 IR 908y $1E 5/
379 ST okl FHIM0MG A & foag &=

IqLEd 1 % ] T899 B HRd © 7
(A) Taenfer =i =g sifyeaaa & o 39 faar #ee w@d 2|

(B) g gftesniull @l Wle %A & feru fomnfaai =1 aniee &

(C) Taam =t swfawan o Hee =l famnfei =1 quem

(D) fanfefi =61 wea oM iR fafv= wiga vl =1 @e & fau dieded |
(1) (B), (C) ¥R (D)

(2) (A), (B) ¥ (C)

(3) (A), (B) ¥X (D)

(4) (A), (C) ¥R (D)

[Question ID = 87][Question Description = $24_Science_Q087]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

28) Read the statements below and choose the correct option :
(A) : Aluminum is a good conductor of electricity.
(B) : Like charges repel and unlike charges attract each other.
(1) (A) - Inference; (B) - Observation

(2) (A) - Observation; (B) - Inference

(3) (A) - Inference; (B) - Inference

(4) (A) - Observation; (B) - Observation

= ferd e 1 ufey i W@ famen &1 9@ =it
(A) : Terfafy faem =1 gems 2

(B) : TGV TN UK TEL 1 Wfahiia IR TG STV U G ] SHMHq Hd 81
(1) (A) - Fr=m; (B) - era@rh

(2) (A) - FEEFT; (B) - Freard

(3) (A)- Fr=h; (B) - frespd

(4) (A) - SAFARA; (B) - SEATHA

[Question ID = 88][Question Description = $24_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)



Read the following excerpt from NCERT VIII Science textbook.

Children along with Prof. Ahmad and Madhaviji enter the biosphere reserve area. Madhavji explains
that biosphere reserves are the areas meant for conservation of biodiversity. Ahmad explains that
the destruction of habitat, increasing population and introduction of new species may affect natural
habitat of endemic species.

Which of the following objectives of science education does the above excerpt highlight ?
Appreciate issues at the interface of science, society & technology.
B) Understand methods of generation of scientific knowledge.

C) Raise environmental concerns.

(A)
(
(
(
(
(
(
(

D) Nurture the aesthetic sense and creativity in science and technology.
1) (A)and (B)
2) (B) and (C)
3) (A) and (C)
4) (C) and (D)

. 4. 3. e 2. 1 fagm 1 VI e & seagss O Fefafed seem gfeu :

= A W-9TeHT IR WS & Wy Serned S aF ° yaw o mues 3 g9z F Saved d@ifed
& o fafaeraed & deor & fau s+ €1 3eue A g T e i T w1, sHEen § gig ol 18
yenfadi =1 wenfaes wenfadi o wipfas samg wi yafad &t T 7

Frafafen § faam foen & forg 3ty W SwiR Sgetv fod 9@ 3 w1 @72
(A) TaIm, Tors wd dehteRt & sfauge W fawdi 1 gHg)

(B) S 1 i Scafa % TR ol HHFA

(C) TATE Fwar=¢ TEl Tl ISH

(D) To=m wd FaTeht | Higduwas Faea IR fRamsar il fiftd e
(

(

(5

1) (A) #R(B)
2) (B) SR (Q)
3) (A) ¥R (©)
4 (O (D)

[Question ID = 89][Question Description = $24_Science_Q089]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)



Read the following excerpt :

Reflection and refraction are the oldest phenomena to us. Much of the discussion on nature of light
during renaissance centered around these phenomena. In the 17th century, Huygens proposed
that light consists of waves. Later, Newton proposed that light is composed of
particles or corpuscles.

Which of the following aspects of nature of science does the above excerpt illustrate ?

(A) Science is sodially and culturally embedded

(B) Science is advanced through creativity and imagination of scientists
(C) Science is tentative in nature

(D) Science progresses through a fixed scientific method

(1) (A) and (B)

(2) (B)and (C)

(3) (B) and (D)

(4) (O and (D)

A fon qads 2R eTvads 9 aftaeATe €1 TaSRoT 3 SR WIS i Wehfa & fawm o == 5= 9
gfeeTell W Hfed ot 117 =ff et 8, Huygen 3 Yatfad foran o wepmel e § &1 81 deavam, =42 A
e feman o wemrer ol a1 ot § o 8

frafafed § 9 fagm &ty & S5 | Tedsi ®1 Swie 35e 99 @ e ?

(

(B)
(©)
(D)
(1)
(2)
(3

)
(4)

A) fogm, o oit dwpfa | wfaeenfia 81
SRl =t getan iR wea | foaam =t wofa Edt 2
o wepfa | oifam €1

o =1 Ifa U fafvaa St Bt & onaR W 2 £

(A) ¥R (B)
(B) #R (C)
(B) ¥R (D)
(C) ¥R (D)

)
)

[Question ID = 90][Question Description = $24_Science_Q090]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- ENG_Q91-99_L1_P2_CTET

1)



Read the passage given below and answer the question that follow.

1.  If Iwere given the use of my eyes, say, just for three days, I should divide the period
into three parts.

2. Onthe first day, I should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

3.  First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

4, On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies. ' '

5. The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

6. I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

The writer talks about a few things she would do if she was granted the gift of sight for
three days. Match the two columns given below with the correct options :

(A) First Day ()  spend time watching people at work
(B) Second Day (I) stare at her teachers face

(C) Third Day (I) wisit movies, theaters and museums
(1) (A)-), B0, (O

(2)  (A)-1), B)-(m), (O-0)

(3)  (A)-(), (B)-(I0), (O-0)

(4)  (A)-(), (B)-(I), (C)-(I)

[Question ID = 151][Question Description = S24_English Content/Pedagogy_Q091]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

2)



Read the passage given below and answer the question that follow.

%

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts.

On the first day, [ should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies. ' '
The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

The fact that the writer is blind is evident from the writer's comment that :

(1)
(2)
(3)
(4)

She can look into the “heart’ of her friends through “the window of their souls.’
She can detect the laughter and sorrow of her friends from the feel of their faces
She can see the oufline of the faces of her friends only through her fingertips
She can detect the many emotions felt by her friends by looking at them

[Question ID = 152][Question Description = S24_English Content/Pedagogy_Q092]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3)



Read the passage given below and answer the question that follow.

1.  If Iwere given the use of my eyes, say, just for three days, I should divide the period
into three parts.

2. On the first day, I should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

3.  First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

4, On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies.

5. The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

6. I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

The fact that the writer wants to gaze at her teacher’s face shows her _ and __ for

her teacher.

(A) love

(B) gratitude

(C) loyalty

(D) compassion

(E) selflessness

(F) patience

1) (A) & B)

2) (© & (D)

(3) (E) & (F)

4) (A) & (F)

[Question ID = 153][Question Description = S24_English Content/Pedagogy_Q093]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4)



Read the passage given below and answer the question that follow.

%

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts.

On the first day, [ should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies. ' '
The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

The fact that the writer wants to greet the dawn of the third morning shows her

(1)
(2)
(3)
(4)

interest in the world of colours

interest in the world of sounds

general interest in the early morning
general interest in the world she lives in

[Question ID = 154][Question Description = S24_English Content/Pedagogy_Q094]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4[Option ID = 616]

5)



Read the passage given below and answer the question that follow.

1.

w2

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts. '

On the first day, I should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when [ was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man's progress, and I should
go to the museums. I should try to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies.

The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

By asking the readers to “use your eyes as if tomorrow you would be stricken blind’, the
writer is asking them to

(1)
(2
(3
(4

appreciate the beautiful work they do
to value the gift of sight

to be prepared for a life of blindness
to appreciate sense of touch

[Question ID = 155][Question Description = S24_English Content/Pedagogy_Q095]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6)



Read the passage given below and answer the question that follow.

%

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts.

On the first day, [ should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies. ' '
The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

Which part of speech is the underlined word in the following sentence ?

I should try to probe into the soul of man through his art.

(1)
(2)
(3)
(4)

adjective
pronoun
preposition

conjunction

[Question ID = 156][Question Description = S24_English Content/Pedagogy_Q096]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7)



Read the passage given below and answer the question that follow.

1.

w2

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts. '

On the first day, I should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when [ was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man's progress, and I should
go to the museums. I should try to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies.

The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

Which part of the following sentence contains an error ?

Most of us take our health for granted till we fell sick
(A) (B) (©) (D)

(1) option (A)

(2) option (B)

(3) option (C)

(4) option (D)

[Question ID = 157][Question Description = S24_English Content/Pedagogy_Q097]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

8)



Read the passage given below and answer the question that follow.

%

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts.

On the first day, [ should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should fry to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies. ' '
The following morning, I should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

Which of the following word is most similar in meaning to the word ‘pageant’ as used in
the passage(para-4) ?

(1)
(2)
(3)
(4)

procession
drama
revelation

play

[Question ID = 158][Question Description = S24_English Content/Pedagogy_Q098]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

9)



Read the passage given below and answer the question that follow.

1.

If I were given the use of my eyes, say, just for three days, I should divide the period
into three parts.

On the first day, I should want to see the people whose kindness and gentleness and
companionship have made my life worth living. I do not know what it is to see into
the heart of a friend through that “window of the soul,” the eye. I can only “see”
through my fingertips the outline of a face. I can detect laughter, sorrow, and many
other obvious emotions. I know my friends from the feel of their faces.

First I should like to gaze upon the face of my dear teacher, Ms. Anne Sullivan
Macy. She came to see me when I was a child. She opened the other world for me.

On my second day, I should like to see the pageant of man’s progress, and I should
go to the museums. I should try to probe into the soul of man through his art. The
things I knew through touch I should now see. The evening of my second day I
should spend at a theatre or at the movies.

The following morning, [ should again greet the dawn, anxious to discover new
delights, new revelations of beauty. Today this third day, I shall spend in the workaday
world, amid the haunts of men going about the business of life.

I, who am blind can give one hint to those who see: Use your eyes as if tomorrow
you would be stricken blind.

Which of the following words is the opposite of the word “haunts’ as used in the passage

(para-3) ?

(1) frequent
(2) avoid

(3) hangout
(4) habituate

[Question ID = 159][Question Description = S24_English Content/Pedagogy_Q099]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Topic:- ENG_Q100-105_L1_P2_CTET



" Read the poem given below and answer the question that follow.
Freedom from fear is the freedom
I claim for you my motherland!
Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning
call of the future;
Freedom from the shackles of slumber wherewith
you fasten yourself in night’s stillness,
mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny
whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,
where figures wait with patience and obedience for the
master of show,

This poem gives the message of :
(1) the importance of freedom from monotonous routine

(2) the importance of being good citizens
(3) the importance of fighting for one’s freedom
(4) the importance of accepting one’s fate which is devoid of any freedom

[Question ID = 160][Question Description = S24_English Content/Pedagogy_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2} Read the poem given below and answer the question that follow

Freedom from fear is the freedom

I claim for you my motherland!

Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning
call of the future;

Freedom from the shackles of slumber wherewith

you fasten yourself in night’s stillness,

mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny

whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,

where figures wait with patience and obedience for the
master of show,

The phrase “puppet world" means :

(1) that India is like a puppet under the British rule.
(2) that all countries without freedom are like puppets.
(3) that the British liked to make puppets of people.

(4)

[Question ID = 161][Question Description = S24_English Content/Pedagogy_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

that the world had become a world full of puppets instead of people.



3) Read the poem given below and answer the question that follow

Freedom from fear is the freedom

I claim for you my motherland!

Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning
call of the future;

Freedom from the shackles of slumber wherewith

you fasten yourself in night's stillness,

mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny

whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,

where figures wait with patience and obedience for the
master of show,

The phrase ‘burden of ages’ refers to :

(A) old customs

(B) sleepless nights

(C) social evils

(D) religious beliefs

(E) scientific inventions
(F)  superstitious beliefs
1) (&) (B) D)

(2) (A, (©. (F)

(3)  (B), (F), (E)

E

©), (E), (F)

[Question ID = 162][Question Description = S24_English Content/Pedagogy_Q102]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

4)



Read the poem given below and answer the question that follow
Freedom from fear is the freedom

I claim for you my motherland!

Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning

call of the future;

Freedom from the shackles of slumber wherewith

you fasten yourself in night's stillness,

mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny

whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,

where figures wait with patience and obedience for the
master of show,

The figure of speech used in the line, “burden of ages ,bending your head, breaking your
back” is :

(1) simile

(2) metaphor
(3) alliteration
(4) hyperbole

[Question ID = 163][Question Description = S24_English Content/Pedagogy_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]



® Read the poem given below and answer the question that follow

Freedom from fear is the freedom

[ claim for you my motherland!

Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning
call of the future;

Freedom from the shackles of slumber wherewith

you fasten yourself in night's stillness,

mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny

whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,

where figures wait with patience and obedience for the
master of show,

The phrase “beckoning call of the future” does Not refer to :
(1) future promises for India

(2) freedom and independence for India

(3) brighter years ahead for India

(4) asimilar darkness in the future of India

[Question ID = 164][Question Description = S24_English Content/Pedagogy_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]



®  Read the poem given below and answer the question that follow

Freedom from fear is the freedom

[ claim for you my motherland!

Freedom from the burden of the ages, bending your head,
breaking your back, blinding your eyes to the beckoning
call of the future;

Freedom from the shackles of slumber wherewith

you fasten yourself in night's stillness,

mistrusting the star that speaks of truth’s adventurous paths;
freedom from the anarchy of destiny

whole sails are weakly yielded to the blind uncertain winds,
and the helm to a hand ever rigid and cold as death.
Freedom from the insult of dwelling in a puppet’s world,
where movements are started through brainless wires,
repeated through mindless habits,

where figures wait with patience and obedience for the
master of show,

The third wish of the speaker for India is to :
(1) tobe free of the illogical, orthodox beliefs and superstitions

(

2)
(3) to overcome her fear of taking risks and dare to walk on an adventurous path
(4) to be free from the humiliation of having to live a life of a slave

[Question ID = 165][Question Description = S24_English Content/Pedagogy_Q105]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

to gain freedom from the colonial yoke

Topic:- ENG_Q106-120_L1_P2_CTET

1)
Sangeeta likes to use realistic activities based on situations that students experience in
their lives. Which teaching method is Sangeeta trying to follow :

(1) Audio Lingual Method
@)
(3) Communicative Language Teaching
(4) Structural Oral Approach

Grammar Translation Method

[Question ID = 166][Question Description = S24_English Content/Pedagogy_Q106]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]

2)



Which of the following is true for Direct method ?

el

Direct method does not aim to help students use language in everyday situations
Direct method aims to help students use language in the classroom only

Direct method aims to help students use language in everyday situations

e e T e T <l
= L D
T e wa

Direct method aims to help students use language grammar and vocabulary by
translah'ng the text .

[Question ID = 167][Question Description = S24_English Content/Pedagogy_Q107]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]
3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

3)

Babita is getting her students to isolate the onsets and rimes, By doing so she is
strengthening their :

(1) Phonological awareness

(2) Morphological awareness

(3) Graphological awareness

(4) Grammar awareness

[Question ID = 168][Question Description = S24_English Content/Pedagogy_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

i is also known as ‘gist reading °.
(1) Skimming
(2) Scanning
(3) Decoding

(4) Encoding

[Question ID = 169][Question Description = S24_English Content/Pedagogy_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

) is the very quick processing of text; looking for a specific text.
(1) Skimming
(2) Scanning
(3) Decoding

(4) Encoding

[Question ID = 170][Question Description = S24_English Content/Pedagogy_Q110]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

6)



Geeta is planning a test for her students. She gives them a sentence and underlines a
particular word. Using multiple choice items she wants them to choose the word which
is closest to the meaning of the underlined word. What subskill of language is Geeta
testing ?

(1) Listening

(2) Reading

(3) Vocabulary

(4) Grammar

[Question ID = 171][Question Description = S24_English Content/Pedagogy_Q111]

7)

1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3.

4. 4 [Option ID = 684]

3 [Option ID = 683]

Prerna wants to test her students vocabulary. What should she not do in her tests ?
(1) Give words in isolation and ask their meaning,.

(2) Underline words from a sentence and ask the synonym.

(3) Underline words from a sentence and ask the antonym.

(4) Give words from a passage and ask them to visualize the context.

[Question ID = 172][Question Description = S24_English Content/Pedagogy_Q112]

1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3.

4. 4 [Option ID = 688]

3 [Option ID = 687]

8)

Devina gave the following passage to her students ;

“Today I went to the and bought some bread and peanut butter. I knew it
was going to rain , but I forgot to take my and got wet on the way.”

She instructs her students to fill in the blanks with words that they think best fits the
passage.

In order to fill in the blanks Devina’s students need to be able to :
(1) Understand the context and know the words that best fit the passage
(2) Understand the rules of grammar only

(3) Understand the syntax of the sentence
(4) Understand the content of the lesson

[Question ID = 173][Question Description = S24_English Content/Pedagogy_Q113]

1.
2.
3.
4.

9)

1 [Option ID = 689]
2 [Option ID = 690]
3 [Option ID = 691]
4 [Option ID = 692]

In Direct Method, Grammar is taught :
(1) Inductively

(2) Deductively

(3) Without explanation

(4) Covertly

[Question ID = 174][Question Description = S24_English Content/Pedagogy_Q114]



1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

10)
Presentation in syllabus design concerns itself with :
(1) the procedures by which lexical and grammatical content is chosen

2)  the principles by which the organization and sequencing of content is determined

L]

)
) the technique of presenting information
4)

(
(
( using specific procedures to teach language
[Question ID = 175][Question Description = S24_English Content/Pedagogy_Q115]
1. 1 [Option ID = 697]

2. 2 [Option ID = 698]

3. 3 [Option ID = 699]

4. 4 [Option ID = 700]

11)

is a language teaching method built around the co-ordination of speech and
action.
(1) Direct method
(2) Total Physical Response
(3) Situational approach
(4) Structural approach

[Question ID = 176][Question Description = S24_English Content/Pedagogy_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]

12) The language classroom should NOT be

) child friendly
) lively

ity

3

) resourceful
4)  autocratic

(]

[Question ID = 177][Question Description = S24_English Content/Pedagogy_Q117]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

13)

Which among these is derived from “genre theory’ ‘of the nature of language and role of
text in social context ?

(1) Text Based Instruction

(2) Whole language
(3) Content Based Instruction
(4) Suggestopedia

[Question ID = 178][Question Description = S24_English Content/Pedagogy_Q118]
1. 1 [Option ID = 709]



2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

14)

A variety of a language which is different from others not just in pronunciation but also
in vocabulary , grammar and word order is known as :

(1) dialect
(2) accent
(3) slangs
(4) jargon

[Question ID = 179][Question Description = S24_English Content/Pedagogy_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

') Army method is also known as "
(1) Audio -lingual method

(2) Direct method

(3) Suggestopedia

(4) Total Physical Response

[Question ID = 180][Question Description = S24_English Content/Pedagogy_Q120]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]

Topic:- HIN_Q121-128_L2_P2_CTET

1)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 # @A Sehiq 7 oot frde # swaw § =9ra & Wi o6t dieeht g9 %1 99 1835 H @@
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
it e ge | R ot ey, SR, Saft s o FeR d St % g8 9 9nTEl St
TTYAT % T B ITH HH HE g1 e A1 el | s SEd HeyH g8 | TUEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

IR | =91 & U9 gduem e gu
(1) i =t

(2) ST HeT

(3) TEE

(4) HEMEl =l

[Question ID = 211][Question Description = S24_Hindi Content/Pedagogy Q121]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]

2)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 # @A Sehiq 7 oot frde # swaw § =9ra & Wi o6t dieeht g9 %1 99 1835 H @@
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
it e ge | R ot ey, SR, Saft s o FeR d St % g8 9 9nTEl St
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

YR H 9@ & @S 9 S
(1) e a1 =ed 9 hl

(2) SR SR ol

(3) HHH I FHUA Al

(4) WX USHE &I

[Question ID = 212][Question Description = S24_Hindi Content/Pedagogy Q122]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]
4. 4 [Option ID = 848]

3)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 # @A Sehiq 7 oot frde # swaw § =9ra & Wi o6t dieeht g9 %1 99 1835 H @@
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
it e ge | R ot ey, SR, Saft s o FeR d St % g8 9 9nTEl St
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

R o TR T e g 7

(1) wgEE
(2) T G
(3) TEMHX
(4) g

[Question ID = 213][Question Description = S24_Hindi Content/Pedagogy Q123]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]

4)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 # @A Sehiq 7 oot frde # swaw § =9ra & Wi o6t dieeht g9 %1 99 1835 H @@
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
it e ge | R ot ey, SR, Saft s o FeR d St % g8 9 9nTEl St
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

‘o J AT AT T 8
(1) 411840 H
(2) H11835H
(3) H118327H
(4) W11823 H

[Question ID = 214][Question Description = S24_Hindi Content/Pedagogy_Q124]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]

5)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 # @A Sehiq 7 oot frde # swaw § =9ra & Wi o6t dieeht g9 %1 99 1835 H @@
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
i = g8 | TR -l ey, TR, S oy SR FeR § Wl IE g5 9 SR
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

= 9T < fere sret § 4fues &4 @ Ty, 2

(1) = FFTE H Ay 9] ol Ayl of

(2) = IR § T A & T e e sege e 9|
(3) = ST H HH ATHeR] H HIH =l Hehell AT |

(4) =TI AT % Aifere T S @ S geTar TE S w9

[Question ID = 215][Question Description = S24_Hindi Content/Pedagogy Q125]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]

6)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 § e Siehie 7 oot i | swm § =g & dieli ot Hieet <9 #1149 1835 H @R
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
i = g8 | TR -l ey, TR, S oy SR FeR § Wl IE g5 9 SR
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

TR % STTHR =1 ST § W F F fon fe e | Aeir @, s wftfes R

(1) ufv=Em sme

(2) wETR

(3) 3
(4) RIS

[Question ID = 216][Question Description = S24_Hindi Content/Pedagogy Q126]

1. 1 [Option ID = 861]

2. 2 [Option ID = 862]

3. 3 [Option ID = 863]
4. 4 [Option ID = 864]

7)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 § e Siehie 7 oot i | swm § =g & dieli ot Hieet <9 #1149 1835 H @R
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
i = g8 | TR -l ey, TR, S oy SR FeR § Wl IE g5 9 SR
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

‘' = faem T ' .

(1) g

(2) @fe

(3) &=

(4) e
[Question ID = 217][Question Description = S24_Hindi Content/Pedagogy_Q127]
1. 1 [Option ID = 865]

2. 2 [Option ID = 866]
3. 3 [Option ID = 867]
4. 4 [Option ID = 868]

8)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

1991 ot H amaq | = i el E g5 1823 H Wad o9 A FEys we H 9w suftafa &6
ST - YEAE A1 F€ H I WE 1ol A ) Uil w1 Shicthtdl o difefqehel MeA & S1efieh %
TTH ST 1| F@ SRt Wi A o R A i o e S Aol 9 ok Wil aHg | E | STers
yerfa %1 & 1 gedrel & 918 39 WiET 1 orRt TR 1S A TR gl | 9 99t U T |

1832 § e Siehie 7 oot i | swm § =g & dieli ot Hieet <9 #1149 1835 H @R
Y Ygel = ST faskfaa fomn ) =@ | o | 90 il Gl IE e | 1840 H 91Hy 3 Al
i = g8 | TR -l ey, TR, S oy SR FeR § Wl IE g5 9 SR
TTTA] % T S 3TH 1 K g1 e A1 el | i SEd HegH g8 | TEE Al A sH % |
18 w7 foms | 99 o7 feadi @ Aoy o =51 WA IE g | I ST o fasmr st Hae
BT W19 3 foru ufvem e, SR AR (IREE), TEey SR IS § UGl S Fi
STHTH H FHT Y |

9 ¥ fum wsg-gmm © L

(1) 9@ = SEH

(2) FoUA

(3) T @

(4) ST 9B
[Question ID = 218][Question Description = S24_Hindi Content/Pedagogy_Q128]
1. 1 [Option ID = 869]

2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]

Topic:- HIN_Q129-135_L2_P2_CTET

1)



faw 7T TNy i eagEe ufen st uB e Uy @ fawew g

g R ORT TRIeE ey § 9% Y9 o7 1 e, afceh wen g w safg g ot g
ey I € T AT UTE: FHe IS & 5 71 9 o #i oin gfeur wa € d 3w e @t sas
BN HA HiE ot B 99 g § SHSd-gHSd HEll i MESSRe, hadhd dedl Al ol "y R,
Yerel | ¥R - 9 wellfed Bid Y, 9THId o 915 TR H 379 Hall ®Y i Seiehidl SR,
gftfen =1 T 1 X =1 I =G F HTHES Hied, TH-3vaHl | uiaEl i Hidl [aR, geEEd 9
S aTelt Svel IR grfed wa, feafen wa ari § wied e srar, 3 99 759 il ARaed w
aTet FARH g9 W4: € SR THA § THI S0 § 991 Uk YRR 3 f&eT 9. o g ST e S @
gl

TR % STOR gtz i Scafa & & & -
(1) € - 92 SewEl &l 3dfd
(2) wHf v gfe 1 dred

(3) Uhfid AR TS &1 Hay

(4) TS H HI Y Gay
[Question ID = 219][Question Description = S24_Hindi Content/Pedagogy_Q129]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]

3. 3 [Option ID = 875]
4. 4 [Option ID = 876]

2)

fe 1w renyr @ eargEe ufen s U e uvR @ famew gt

gepfa 2N TR aRe HEY € 98 ey oI 1 6, dfesh wed gite #i Seafa gg ¥ e 9 Te
ey IF & T A1 UTH: FHe IS & 5 86 79 fewn #i oin gfeur w € A 3w = welt svas
TR 9 HiE ol €1 99 g H SHSd-gusd UHl i SR, Herhd dedl Aiedl g =R,
Terel | ¥R - o yefed Bid i, 9THE o 915 AR H S0 WAl ®Y Hl Selshidl SR,
gfufer &1 Ta i G =l i e H1 GAHES Hied, FH-39FH1 A gieEl Fi Wi R, gerEEd 9
AW e SUET IR gty e, foafen w2 ari § wiea Fien srer, 3 99 759 i ARed
AT HARH G99 a: € R TEA § 9 S € 991 Ueh TR & f&eT o7 %1 8F ST vE i aTd
g

Tt g ¥ ynfaer foran =80 € -

(1) 3Hed R

(2) &t At

(3) TS FHA

(4 o fem
[Question ID = 220][Question Description = S24_Hindi Content/Pedagogy_Q130]
1. 1 [Option ID = 877]

2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]



3)

feu T TEnyr @t sargEe ufen 3T 9B U uyE @ faemew 9T

el AT SHR dIEeE Ty ¥ TE G T 1 e, 9ok 9o gie i s gg €A 99w
He® Y& B T AT UG el SSd & 56 A A faun i 7R g d € 91 3w @l aweE
TR 94 HIE ol § 1 99l kg H I9Sd-gHSd Hel 1 TSR, FHeAha ggdl AfGdl il HYL W,
RIS | T - FR yaIed B 3, SUE % o1 SR § B9 WAl ®Y Sl Sl SRE,
yfofe =1 T =1 QX =G hl DS H HHIEE died, aHi-syanl # ufeedi #1 HS 1eR, gerree 9
R ATelt Suet iR giifed e, feafen @ ari & @i ien ey, 3 U= 5ea F dReed w3
TTe! HARH 9 Ta: € HN T H §H 9 § 99 Ush WK o fEeH 3T 1 8 ST YE & o
g

Terien W fope @ ) W @ TR 2
(1) g

(2) THTEE
(3) e
(4) A&

[Question ID = 221][Question Description = S24_Hindi Content/Pedagogy Q131]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4. 4 [Option ID = 884]

4)

few T renyr @t e ufen s U Tw uv @ fameu gt

gepfa iR F9R aRe HeY € 98 ey oI 1 6, dfceh wed gite wi Seafa gg ¥ e 9 Te
ey IF & T A1 UTH: e IS & 5 86 9 fewn #i oin gfeur w € A 3w = @l svas
TR 9 HiE ol €1 99 g H SHSd-gusd UHl i SR, Herhd dedl Aiedl g =R,
TErEgl 9 3R - o yarfed a ek, 9% % 91g ST § S0 Hali &Y hl Skl SR,
gfufer &1 Ud i QL =l i e H1 HAEES Hied, TH-39aA1 A gieEl w1 Wil R, gerEEd d
M arett 3uet SR gt e, feafen wa arii § wfaa Hien s, 3 9 253 i SRented F
AT HARH G99 Ta: € TR 751 H HHI S § 991 Ueh YR & feeq TS %1 8H $T9d &td atd

g

feza arrie # wnfiel =1 2 -
(1) Hifad &

(2) @& HEH

(3) Uf&rEl =l e

(4) R ¥ fed seh

[Question ID = 222][Question Description = S24_Hindi Content/Pedagogy Q132]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]



5)

few 7w TNy @t eargEe ufen s U e uv @ famey g

yepfa i gUR AR HeY € ¥E HeY o7 1 74, dfceh wew gfte i 3eafa gE § v | ue
ey IE B T A1 UTH: I 334 & 5 76 9 9 A SR gfieud #d € @ 3w el e
TR T HiE ot ¥ 99 g § SUSd-gusd HEll i MSSRe, hodd sedl Aadl sl HY W@y,
RIS | T - I Yellfed Bl 3R, a3 o 15 ST H S Fall Yl Serhl $EU,
gftfar =t T A 9 =i i =iE F HTHES Hied, aRi-svant § ufeEl @t Hidt e, geEEa 3
AT arelt Suel o grited gan, feafen s arii | wf=a Hien e, 3 99 559 # aeaed w
A HARH 9% Ta: B TR TIE | WHI S0 § 91 Uoh YR % feeT T %1 89 ST VE &Td @
gl

RIS § Tt o T Wl i == © -
(1) &1, F

(2) ZRAT, ST

(3) e, wE

(4) S, 9%

[Question ID = 223][Question Description = S24_Hindi Content/Pedagogy_Q133]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]
3. 3 [Option ID = 891]
4. 4 [Option ID = 892]

6)

faw 7T ey @ eargEe ufen s g e gy @ fasew g

yepfa iR TR TR HeY € 98 HeY o7 1 e, dfceh weod gfte i 3eaf g8 ® v | ue
HeH IE B T A1 WIE: HA IS4 & 5 76 9 9 A SR gfeur Fd € 9 3w et ey
BRI TA HIE ol €1 a9l kg H Id-gued HHl $1 TSSRe, FHerhd gedl Aedl il HY B,
Yergl ¥ ¥R - 3 Walfed g iy, s o g SR § 9 WAl ®Y Sl $RU,
gftfen i T 1 X =l I =G F HTHES Hied, TH-3uaHl | gfeEl &1 Hidl (O, geaEd 9
AN arelt Bvet AR grited g, feafen w0 arif § wiad ien s, 3 9« 253 &l sneafed &
aTet TARH g9 4: € g9R T § WH S0 § 991 Ueh YR 3 f&e7 ST o 79 ST ve S @d
2l

Trifed T 2
(1) %=

(2) =d

3) fud

4) d

[Question ID = 224][Question Description = S24_Hindi Content/Pedagogy Q134]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]
3. 3 [Option ID = 895]



4. 4 [Option ID = 896]

7)

faw 7T ey @ eargEe ufen s g e gy @ fasew g

Yef 2R AR R e § 98 Y9 o7 1 e, afceh wod g w safa g Bt @ ww
HeH IE B T A1 WIE: HA IS4 & 5 76 9 9 A SR gfeur Fd € 9 3w et ey
TN TH HiE ot ¥ 99 g § SUSd-gusd HEll 1 MSSRe, hodd sdedl Atadl ol HY W,
vergl 9 ¥’ - 3 yarfed g i, S o g e § S WAl ®Y Bl $RU,
gftfen 1 T 1 X =1e I =G F HTHES Hied, TH-3uaHl | ufeEl 1 Hidl (9, geEEd 9
AN arelt Bvel AR gritd g, feafen w0 o § wiad en sy, 3 99 253 &l sTeafed w¢
aTet TARH g9 4: € g9R T § WH S0 § 991 Ueh YR 3 f&e7 ST o 79 ST ve S @d
2l

Forreor — fergred =1 SeTeTo & © -

(1) e s
(2) grIfEd &
(3) THARE g
(4) @l g

[Question ID = 225][Question Description = S24_Hindi Content/Pedagogy Q135]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

Topic:- HIN_Q136-150_L2_P2_CTET

" Ffefed § 9 $H-01 99 a0% W e 8, o @i @ ot e §2
(1) =AY AR
(2) HEIEOCH HrHT foET
(3) EHIEARHF 3UNTH
4) yfwe fafe (Td = fafy)

[Question ID = 226][Question Description = S24_Hindi Content/Pedagogy_Q136]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

Y frefates § FE-m gl e § geet s e A 37
(1) == STFTEehRdl
(2) STHT gow SETERT
(3) T=r= Hoter SR
(4) SR SRS

[Question ID = 227][Question Description = S24_Hindi Content/Pedagogy Q137]



1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]

3)

Ffer o1e Wt § o1 Aot U vresi o 1 o Hewl W famnfiE &% wy == w @ € fAfa e
@ 2

(1) o T YR ¥ gee = @I ¢ foagd 5 faene ue #1 o=t @ 9oz 9%

2) e T § 9y i = @ € foud 69 vhen & foe 39 e &t i w aus

(3) % Uk YR T SmEr 1 e Y o @ @ formd fo fornelt ure i eyl 7 9w

(4)

4) 9% UH U A AR R @ 2 Fored farnedt ww wwd fF we H e v ol ot & weeyt
g

[Question ID = 228][Question Description = S24_Hindi Content/Pedagogy Q138]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]

4)

AR TS o TEHETRTT T =Rl UM @ 8| Tk YU o 9N H 3H Held T fom sHe
Taedaor T &1 ged 18% | A1 1 38 Y99 & i § & & =iy ?

(1) 999 =1 Y93 H @A =iy

(2) W s | qE e e

(3) WA HeAq w9 Y yeys % o fadeen @

(4) 8 U 3H UYAUS & U Ush wE g ©

[Question ID = 229][Question Description = S24_Hindi Content/Pedagogy _Q139]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]

5)

T St YRl SR s sifm & 9 F fagra St el & Eid F w9 ° F1 H §,
il ?

(1) 34rFH
2) fafu
(3) fw
ORI ERICTRIES

[Question ID = 230][Question Description = S24_Hindi Content/Pedagogy Q140]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]
3. 3 [Option ID = 919]
4. 4 [Option ID = 920]



®) o fafy B s =

(1) < YT % FB dedl o &I i ST 21 =1fey
(2) sl oft 9 H SO 9T SEEE H SAN T8 BT e
(3) SRS WTHT KT FAN G U AR FA I SHA S ey
(4) SR HAE & H STAN &l B A1e

1['Q:.u[e;[t)it?or:] |||; =922:1a ]1][Question Description = S24_Hindi Content/Pedagogy_Q141]

2. 2 [Option ID = 922]

3. 3 [Option ID = 923]
4. 4 [Option ID = 924]

7)

Taeta fava gz o SR, smfte & el 3 st S 1 fageh el § gfafam s & fag
forer farfr =1 wmT feman 2

(1) 9IS
(2) -9
(3) HEARTH
4) e fafa

[Question ID = 232][Question Description = S24_Hindi Content/Pedagogy_Q142]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]
3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

Y grires o # e § e T e fa i R
(1) TEATHER AR JaE
(2) VATE AR T
(3) TEATCHER AT AR
(4) vETE 3R T (TE)

[Question ID = 233][Question Description = S24_Hindi Content/Pedagogy_Q143]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4. 4 [Option ID = 932]

) i v = gay el §2

(1) forne™ & sRfye a6l § 939 S oraA
2) fofes w=ra o vea @R oEm

(3) T= fommer § e o egw

(4) wElfaEne™ § 99 S aEa

[Question ID = 234][Question Description = S24_Hindi Content/Pedagogy Q144]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]




4. 4 [Option ID = 936]

10)

TH1 1 el W Ueh s1earyeh femnteli &l Us ure ed & foru &t &1 9% 5= 39 U % f=a0, v,
A Uil % SHR W STIHA M o A0 Fedl ¥ 1 Y 9% 3% wedl § [ ST SAIHE Tl S
+ % fore ue ufgn | 9% =g o7 faenfeiai @ e 3t € fr af foredt wonr =) sregeean ©
Y US| 9 WEAl oh ISR St €1 o H o fawnfaRi @, S o 3= wwen € swen
RIS A o AU wedt 81 T@T AT i w G 27

(1) T T

(2) foega forgm
(3) UREufiEm foram
(4) el form

[Question ID = 235][Question Description = S24_Hindi Content/Pedagogy_Q145]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]

1),

qremEmdt anenfia Fee’ | aamErTht | e A § 2
(1) fawfa =9 4 giga i
(2) oy w9 9 fag U swES
(3) fafere weyl # wrT =1 78 v % SEAnE
(4) fafore He4f § Heme/amdian
[Question ID = 236][Question Description = S24_Hindi Content/Pedagogy_Q146]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]

3. 3 [Option ID = 943]
4. 4 [Option ID = 944]

12)

oqTo el 8, e faanfeE o g fox dleat, -1 & el § 929 37 f=E # aviH w e
% o et ®1 78T W g uieys faed gfaq 22

1) T=wF =
(2) =EER % fag |
(3) YA F g

(4) oW % fagrd |

[Question ID = 237][Question Description = S24_Hindi Content/Pedagogy_Q147]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]
3. 3 [Option ID = 947]
4. 4 [Option ID = 948]



13)

gikfas ® § SPTEd T819% 1 frg w1 g wéE < =ifeu ?
(1) HEEATeH S

(2) Torenfoi=i =i wiswaa

(3) famnfeldi &t sAferm el o sTHER a9 &

(4) =HfeaETE Y A o fad =

[Question ID = 238][Question Description = S24_Hindi Content/Pedagogy_Q148]
1. 1 [Option ID = 949]

2. 2 [Option ID = 950]

3. 3 [Option ID = 951]

4. 4 [Option ID = 952]

14)

STEA (1994) BRI S0 HedrTeTs Hl AT §9&1 & a1 | Ul & 9e
(A) SH=RER HedmTes wT St waE R faftre e % fou 999 € oiR 3 ugE T

e T W oL T TTE % o4 & ¢

(B) iru=nfisr Ty @ &0l | TRt UF a0 W 9% 94 Ted ¢ i forent 3eva yeaet forar &
AR tfeTs gy &9 §

(1) (A) W&l &9 (B) T §

(2) (A) 7T E W (B) T ¥

(3) (A) ¥R (B) <1 W &

(4) (A) 3R (B) i Tora §
[Question ID = 239][Question Description = S24_Hindi Content/Pedagogy_Q149]
1. 1 [Option ID = 953]
2. 2 [Option ID = 954]

3. 3 [Option ID = 955]
4. 4 [Option ID = 956]

15)

Te Wifthe (91 1 7ol 3R ) & 9 H HYd U iR wEl fasey & =E #i|

(A) ‘HmFE R S AR ERdl Scfase wifte ¥

(R) Ha Aifthy o %A fdl wes & s Tl o %o Yedsil &l Yafid i & fau
o ST g

) (A) e § AfE (R) HE 7
2) (A)Hé & AfFT (R) Tord §
) (A) S (R) FT T& § 3R (R), (A) F =H0ET ®
(4) (A) 3R (R) SHT Tomd &
1[Q111¢[a;titgn |||; =9254;;)][Question Description = S24_Hindi Content/Pedagogy_Q150]
2. 2 [Option ID = 958]

3. 3 [Option ID = 959]
4. 4 [Option ID = 960]








